# Some Recursion Formulae for the Number of Derangements and Bell Numbers 

Yuan HE*, Jing PAN<br>Faculty of Science, Kunming University of Science and Technology, Yunnan 650500, P. R. China


#### Abstract

In this paper, a further investigation for the number of Derangements and Bell numbers is performed, and some new recursion formulae for the number of Derangements and Bell numbers are established by applying the generating function methods and Padé approximation techniques. Illustrative special cases of the main results are also presented.


Keywords the number of Derangements; Bell numbers; Padé approximants; recursion formulae

MR(2010) Subject Classification 11B83; 05A19; 41A20

## 1. Introduction

Let $\varphi(n)$ denote the set of permutations $\sigma:\{1, \ldots, n\} \rightarrow\{1, \ldots, n\}$ and let $\phi(n)$ denote the set of permutations of $\varphi(n)$ with no fixed points, the so-called derangements of $\varphi(n)$. A well-known example of this is the case of the absent-minded secretary who has to place $n$ letters into $n$ addressed envelopes and puts each letter into a wrong envelope. The problem of counting derangements was first considered and solved by Pierre Raymond de Montmort [1]. The number of derangements of a set of $n$ elements is denoted by $D(n)=|\phi(n)|$. It is easy to see that the first few values for the number of derangements are $D(0)=1, D(1)=0, D(2)=1, D(3)=2, D(4)=9$ with $D(0)=1$ being defined by convention.

It is not difficult to find a closed formula for the number of derangements. The familiar inclusion-exclusion principle gives the explicit expression for the number of derangements, as follows [2]

$$
\begin{equation*}
D(n)=n!\left(1-\frac{1}{1!}+\frac{1}{2!}+\cdots+\frac{(-1)^{n}}{n!}\right) \tag{1.1}
\end{equation*}
$$

From the following interesting properties of $D(n)$ can be obtained easily,

$$
\begin{gather*}
\frac{D(n)}{n!} \text { converges quickly to } e^{-1},  \tag{1.2}\\
D(n)=n D(n-1)+(-1)^{n}  \tag{1.3}\\
D(n)=(n-1)(D(n-1)+D(n-2)) . \tag{1.4}
\end{gather*}
$$

[^0]We refer the readers to Hassani [3] for a further exposition for (1.2) and Remmel [4] for combinatorial proofs of (1.3) and (1.4). If we recognize that $\binom{n}{k} D(k)$ counts all permutations in which exactly $k$ elements of the set $\{1,2, \ldots, n\}$ are displaced, one can get the recurrence relation for the number of derangements:

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} D(k)=n! \tag{1.5}
\end{equation*}
$$

which can be also obtained by applying the generating function of the number of derangements [5,6]:

$$
\begin{equation*}
\frac{e^{-t}}{1-t}=\sum_{n=0}^{\infty} D(n) \frac{t^{n}}{n!} \tag{1.6}
\end{equation*}
$$

In fact, there exists a more generalization of (1.5). For example, in probabilistic terms, Clarke and Sved [2] showed an interesting connection between the number of derangements and the Bell numbers, as follows,

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} k^{s} D(k)=n!\sum_{k=0}^{s}\binom{s}{k}(-1)^{k} n^{s-k} B(k), \quad n \geq s \geq 0 \tag{1.7}
\end{equation*}
$$

where $B(n)$ is the familiar Bell numbers satisfying the generating function:

$$
\begin{equation*}
e^{e^{t}-1}=\sum_{n=0}^{\infty} B(n) \frac{t^{n}}{n!}, \tag{1.8}
\end{equation*}
$$

and obeying the recurrence relation:

$$
\begin{equation*}
B(0)=1, \quad \sum_{k=0}^{n}\binom{n}{k} B(k)=B(n+1), \quad n \geq 0 \tag{1.9}
\end{equation*}
$$

For some interesting properties of the number of derangements and Bell numbers, one is referred to [7-14].

Inspired by the work of Clarke and Sved, we perform a further investigation for the number of Derangements and Bell numbers, and establish some new recursion formulae for the number of Derangements and Bell numbers by applying the generating function methods and Padé approximation techniques. Accordingly we consider special cases including (1.1) and (1.5) as well as immediate consequences of the main results.

This paper is organized as follows. In the second section, we recall the Pade approximation to the exponential function. The third section is contributed to the statement of some new recursion formulae for the number of Derangements and Bell numbers by applying the generating function methods and Padé approximation techniques.

## 2. Padé approximants

As is well known, the properties of Padé approximants have played important roles in number theory and combinatorics, for example, Hermite's proof of the transcendency of $e$, Lindemann's proof of the transcendency of $\pi$, continued fractions, Orthogonal polynomials and so on, see [15-17] for details. As preliminaries, we begin by recalling the definition of Padé approximation
to general series and their expression in the case of the exponential function. Let $m, n$ be nonnegative integers and let $\mathcal{P}_{k}$ be the set of all polynomials of degree $\leq k$. Given a function $f$ with a Taylor expansion

$$
\begin{equation*}
f(u)=\sum_{k=0}^{\infty} c_{k} t^{k} \tag{2.1}
\end{equation*}
$$

in a neighborhood of the origin, a Padé form of type $(m, n)$ is a pair $(P, Q)$ satisfying that

$$
\begin{equation*}
P=\sum_{k=0}^{m} p_{k} t^{k} \in \mathcal{P}_{m}, \quad Q=\sum_{k=0}^{n} q_{k} t^{k} \in \mathcal{P}_{n}, \quad Q \not \equiv 0, \tag{2.2}
\end{equation*}
$$

and

$$
\begin{equation*}
Q f-P=\mathcal{O}\left(t^{m+n+1}\right) \text { as } t \rightarrow 0 . \tag{2.3}
\end{equation*}
$$

Clearly, every Padé form of type ( $m, n$ ) for $f(t)$ always exists and obeys the same rational function. The uniquely determined rational function $P / Q$ is called the Padé approximant of type $(m, n)$ for $f(t)$, and is denoted by $[m / n]_{f}(t)$ or $r_{m, n}[f ; t]$; see for example, $[18,19]$.

The study of Padé approximants to the exponential function was initiated by Hermite [20] and then continued by Padé [21]. Considering a pair $(m, n)$ of nonnegative integers, the Padé approximant of type ( $m, n$ ) for $e^{t}$ is the unique rational function

$$
\begin{equation*}
R_{m, n}(t)=\frac{P_{m, n}(t)}{Q_{m, n}(t)}, \quad P_{m, n} \in \mathcal{P}_{m}, Q_{m, n} \in \mathcal{P}_{n}, Q_{m, n}(0)=1 \tag{2.4}
\end{equation*}
$$

with the property that

$$
\begin{equation*}
e^{t}-R_{m, n}(t)=\mathcal{O}\left(t^{m+n+1}\right) \text { as } t \rightarrow 0 . \tag{2.5}
\end{equation*}
$$

Unlike Padé approximants to other functions, it is possible to determine explicit formulae for $P_{m, n}$ and $Q_{m, n}$ (see [22, p. 245] or [23]):

$$
\begin{gather*}
P_{m, n}(t)=\sum_{k=0}^{m} \frac{m!\cdot(m+n-k)!}{(m+n)!\cdot(m-k)!} \frac{t^{k}}{k!},  \tag{2.6}\\
Q_{m, n}(t)=\sum_{k=0}^{n} \frac{n!\cdot(m+n-k)!}{(m+n)!\cdot(n-k)!} \cdot \frac{(-t)^{k}}{k!}, \tag{2.7}
\end{gather*}
$$

and

$$
\begin{equation*}
Q_{m, n}(t) e^{t}-P_{m, n}(t)=(-1)^{n} \frac{t^{m+n+1}}{(m+n)!} \int_{0}^{1} x^{n}(1-x)^{m} e^{x t} \mathrm{~d} x . \tag{2.8}
\end{equation*}
$$

We refer to $P_{m, n}(t)$ and $Q_{m, n}(t)$ as the Padé numerator and denominator of type $(m, n)$ for $e^{t}$, respectively. In next section, we shall make use of the above Pade approximation to the exponential function to establish some new recursion formulae for the number of Derangements.

## 3. The statement of results

In this section, we shall establish some new recursion formulae for the number of Derangements and Bell numbers by applying the generating function methods and Padé approximation techniques.

### 3.1. Recursion formulae for Bell numbers

We first show some connections between the number of derangements, the Bell numbers and the $r$-Bell polynomials, which are analogous to the Clarke and Sved's formula (1.7). Mezö [24,25] studied in great detail the so-called $r$-Bell polynomials $B_{n, r}(x)$ satisfying the following exponential generating function:

$$
\begin{equation*}
e^{x\left(e^{t}-1\right)+r t}=\sum_{n=0}^{\infty} B_{n, r}(x) \frac{t^{n}}{n!} \tag{3.1}
\end{equation*}
$$

Obviously, the case $r=0$ and $x=1$ gives the Bell numbers $B(n)=B_{n, 0}(1)$. Making $m$-times derivative for (1.8) with respect to $t$, we get

$$
\begin{equation*}
\frac{\partial^{m}}{\partial t^{m}}\left(e^{e^{t}-1}\right)=\sum_{s=0}^{\infty} B(m+s) \frac{t^{s}}{s!} \tag{3.2}
\end{equation*}
$$

By multiplying the exponential series $e^{x t}=\sum_{s=0}^{\infty} x^{s} t^{s} / s!$ in both sides of (3.2), with the help of the Cauchy product, we have

$$
\begin{equation*}
e^{-n t} \frac{\partial^{m}}{\partial t^{m}}\left(e^{e^{t}-1}\right)=\sum_{s=0}^{\infty}\left[\sum_{k=0}^{s}\binom{s}{k}(-n)^{s-k} B(m+k)\right] \frac{t^{s}}{s!} . \tag{3.3}
\end{equation*}
$$

Assume that $\{f(n)\},\{g(n)\},\{h(n)\},\{\bar{h}(n)\}$ are four sequences given by

$$
\begin{equation*}
F(t)=\sum_{n=0}^{\infty} f(n) \frac{t^{n}}{n!}, \quad G(t)=\sum_{n=0}^{\infty} g(n) \frac{t^{n}}{n!}, \tag{3.4}
\end{equation*}
$$

and

$$
\begin{equation*}
H(t)=\sum_{n=0}^{\infty} h(n) \frac{t^{n}}{n!}, \quad \bar{H}(t)=\sum_{n=0}^{\infty} \bar{h}(n) \frac{t^{n}}{n!} . \tag{3.5}
\end{equation*}
$$

If $H(t) \bar{H}(t)=1$, then one can easily obtain the inverse relation: for non-negative integer $n$,

$$
\begin{equation*}
f(n)=\sum_{k=0}^{n}\binom{n}{k} h(k) g(n-k) \Longleftrightarrow g(n)=\sum_{k=0}^{n}\binom{n}{k} \bar{h}(k) f(n-k) . \tag{3.6}
\end{equation*}
$$

Notice that the familiar Leibniz rule means that

$$
\begin{equation*}
\frac{\partial^{m}}{\partial t^{m}}\left(e^{-n t} \cdot e^{e^{t}-1}\right)=\sum_{k=0}^{m}\binom{m}{k}(-n)^{m-k}\left\{e^{-n t}\left(\frac{\partial^{k}}{\partial t^{k}} e^{e^{t}-1}\right)\right\} \tag{3.7}
\end{equation*}
$$

which together with (3.6) yields

$$
\begin{equation*}
e^{-n t}\left(\frac{\partial^{m}}{\partial t^{m}} e^{e^{t}-1}\right)=\sum_{k=0}^{m}\binom{m}{k} n^{m-k}\left(\frac{\partial^{k}}{\partial t^{k}} e^{-n t} \cdot e^{e^{t}-1}\right) \tag{3.8}
\end{equation*}
$$

It follows from (3.1) and (3.8) that

$$
\begin{equation*}
e^{-n t}\left(\frac{\partial^{m}}{\partial t^{m}} e^{e^{t}-1}\right)=\sum_{s=0}^{\infty}\left(\sum_{k=0}^{m}\binom{m}{k} n^{m-k} B_{s+k,-n}(1)\right) \frac{t^{s}}{s!} . \tag{3.9}
\end{equation*}
$$

Thus, equating (3.3) and (3.9) and comparing the coefficients of $t^{s} / s$ ! gives the following result.

Theorem 3.1 Let $m, n, s$ be non-negative integers. Then

$$
\begin{equation*}
\sum_{k=0}^{m}\binom{m}{k} n^{m-k} B_{s+k,-n}(1)=\sum_{k=0}^{s}\binom{s}{k}(-n)^{s-k} B(m+k) . \tag{3.10}
\end{equation*}
$$

It becomes obvious that setting $m=0$ in Theorem 3.1 gives the connection between the Bell numbers and the $r$-Bell polynomials: for non-negative integers $n, s$,

$$
\begin{equation*}
B_{s,-n}(1)=\sum_{k=0}^{s}\binom{s}{k}(-n)^{s-k} B(k) . \tag{3.11}
\end{equation*}
$$

It follows from (1.7) and (3.11) that we state the relation between the number of Derangements and the $r$-Bell polynomials:

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k}(-k)^{s} D(k)=n!\cdot B_{s,-n}(1) \tag{3.12}
\end{equation*}
$$

where $n, s$ are non-negative integers with $n \geq s$.

### 3.2. Recursion formulae for the number of Derangements

We next present some generalizations of (1.1) and (1.5), which are different from the Clarke and Sved's formula (1.7). We rewrite (1.6) as follows,

$$
\begin{equation*}
e^{t}\left(\sum_{j=0}^{\infty} D(j) \frac{t^{j}}{j!}\right)=\frac{1}{1-t} \tag{3.13}
\end{equation*}
$$

If we denote the right hand side of $(2.8)$ by $S_{m, n}(t)$, we get the following expression of Padé approximant for the exponential function $e^{t}$,

$$
\begin{equation*}
e^{t}=\frac{P_{m, n}(t)+S_{m, n}(t)}{Q_{m, n}(t)} \tag{3.14}
\end{equation*}
$$

By applying (3.14) to (3.13), we obtain

$$
\begin{equation*}
\left(P_{m, n}(t)+S_{m, n}(t)\right) \sum_{j=0}^{\infty} D(j) \frac{t^{j}}{j!}=\frac{1}{1-t} Q_{m, n}(t) \tag{3.15}
\end{equation*}
$$

If we apply the exponential series $e^{x t}=\sum_{k=0}^{\infty} x^{k} t^{k} / k$ ! in the right hand side of (2.8), with the help of the familiar Beta function, we get

$$
\begin{align*}
S_{m, n}(t) & =(-1)^{n} \frac{t^{m+n+1}}{(m+n)!} \sum_{k=0}^{\infty} \frac{t^{k}}{k!} \int_{0}^{1} x^{n+k}(1-x)^{m} \mathrm{~d} x \\
& =\sum_{k=0}^{\infty} \frac{(-1)^{n} m!\cdot(n+k)!}{(m+n)!\cdot(m+n+k+1)!} \cdot \frac{t^{m+n+k+1}}{k!} . \tag{3.16}
\end{align*}
$$

For convenience, we consider the coefficients $p_{m, n ; k}, q_{m, n ; k}$ and $s_{m, n ; k}$ of the polynomials $P_{m, n}(t), Q_{m, n}(t)$ and $S_{m, n}(t)$ such that

$$
\begin{equation*}
P_{m, n}(t)=\sum_{k=0}^{m} p_{m, n ; k} t^{k}, \quad Q_{m, n}(t)=\sum_{k=0}^{n} q_{m, n ; k} t^{k} \tag{3.17}
\end{equation*}
$$

and

$$
\begin{equation*}
S_{m, n}(t)=\sum_{k=0}^{\infty} s_{m, n ; k} t^{m+n+k+1} \tag{3.18}
\end{equation*}
$$

Clearly, the coefficients $p_{m, n ; k}, q_{m, n ; k}$ and $s_{m, n ; k}$ satisfy

$$
\begin{equation*}
p_{m, n ; k}=\frac{m!\cdot(m+n-k)!}{(m+n)!\cdot k!\cdot(m-k)!}, \quad q_{m, n ; k}=\frac{(-1)^{k} n!\cdot(m+n-k)!}{(m+n)!\cdot k!\cdot(n-k)!}, \tag{3.19}
\end{equation*}
$$

and

$$
\begin{equation*}
s_{m, n ; k}=\frac{(-1)^{n} m!\cdot(n+k)!}{(m+n)!\cdot k!\cdot(m+n+k+1)!}, \tag{3.20}
\end{equation*}
$$

respectively. By applying (3.17) and (3.18) to (3.15), we discover

$$
\begin{equation*}
\left(\sum_{k=0}^{m} p_{m, n ; k} t^{k}\right) \sum_{j=0}^{\infty} D(j) \frac{t^{j}}{j!}+\left(\sum_{k=0}^{\infty} s_{m, n ; k} t^{m+n+k+1}\right) \sum_{j=0}^{\infty} D(j) \frac{t^{j}}{j!}=\frac{1}{1-t}\left(\sum_{k=0}^{n} q_{m, n ; k} t^{k}\right) \tag{3.21}
\end{equation*}
$$

which means

$$
\begin{equation*}
\sum_{l=0}^{\infty} t^{l} \sum_{\substack{k+j=l \\ k \geq 0, j \geq 0}} p_{m, n ; k} \frac{D(j)}{j!}+\sum_{l=0}^{\infty} t^{l} \sum_{\substack{k+j=l-m-n-1 \\ k \geq 0, j \geq 0}} s_{m, n ; k} \frac{D(j)}{j!}=\sum_{l=0}^{\infty} t^{l} \sum_{\substack{k+j=l \\ k \geq 0, j \geq 0}} q_{m, n ; k} \tag{3.22}
\end{equation*}
$$

By comparing the coefficients of $t^{l}$ in (3.22), we get that for $0 \leq l \leq m+n$,

$$
\begin{equation*}
\sum_{\substack{k+j=l \\ k \geq 0, j \geq 0}} p_{m, n ; k} \frac{D(j)}{j!}=\sum_{\substack{k+j=l \\ k \geq 0, j \geq 0}} q_{m, n ; k} \tag{3.23}
\end{equation*}
$$

It follows from (3.19) and (3.23) that we state the following recursion formula for the number of Derangements.

Theorem 3.2 Let $l$, $m$, $n$ be non-negative integers. Then, for positive integer $l$ with $0 \leq l \leq$ $m+n$,

$$
\begin{equation*}
\sum_{k=0}^{l}\binom{m}{k}(m+n-k)!\frac{D(l-k)}{(l-k)!}=\sum_{k=0}^{l}\binom{n}{k}(-1)^{k}(m+n-k)!. \tag{3.24}
\end{equation*}
$$

We now discuss some special cases of Theorem 3.2. Setting $l=m+n$ in Theorem 3.2, we obtain that for non-negative integers $m, n$,

$$
\begin{equation*}
\sum_{k=0}^{m}\binom{m}{k} D(n+k)=\sum_{k=0}^{n}\binom{n}{k}(-1)^{n-k}(m+k)!. \tag{3.25}
\end{equation*}
$$

It is trivial to see that the case $m=0$ and $n=0$ in (3.25) gives the formula (1.1) and (1.5), respectively.

If we compare the coefficients of $t^{l}$ in (3.22) for $l \geq m+n+1$, then

$$
\begin{equation*}
\sum_{\substack{k+j=l \\ k \geq 0, j \geq 0}} p_{m, n ; k} \frac{D(j)}{j!}+\sum_{\substack{k+j=l-m-n-1 \\ k \geq 0, j \geq 0}} s_{m, n ; k} \frac{D(j)}{j!}=\sum_{\substack{k+j=l \\ k \geq 0, j \geq 0}} q_{m, n ; k} \tag{3.26}
\end{equation*}
$$

Hence, by applying (3.19) and (3.20) to (3.26), we get

$$
\sum_{k=0}^{m}\binom{m}{k}(m+n-k)!\frac{D(l-k)}{(l-k)!}+(-1)^{n} \frac{m!\cdot n!}{l!} \sum_{k=0}^{l-m-n-1}\binom{l-m-k-1}{n}\binom{l}{k} D(k)
$$

$$
\begin{equation*}
=\sum_{k=0}^{n}\binom{n}{k}(-1)^{k}(m+n-k)!. \tag{3.27}
\end{equation*}
$$

If we set $l=m+n+r$ in (3.27), we obtain that for non-negative integers $m, n$ and positive integer $r$,

$$
\begin{align*}
& \sum_{k=0}^{m}\binom{m}{k}(n+k)!\frac{D(n+k+r)}{(n+k+r)!}+(-1)^{n} \frac{m!\cdot n!}{(m+n+r)!} \sum_{k=0}^{r-1}\binom{n+r-k-1}{n}\binom{m+n+r}{k} D(k) \\
& \quad=\sum_{k=0}^{n}\binom{n}{k}(-1)^{n-k}(m+k)! \tag{3.28}
\end{align*}
$$

Thus, multiplying both sides of (3.28) by $r$ ! gives the following result.
Theorem 3.3 Let $m, n$ be non-negative integers. Then, for positive integer $r$,

$$
\begin{align*}
& \sum_{k=0}^{m} \frac{\binom{m}{k}}{\binom{n+k+r}{r}} D(n+k+r)+(-1)^{n} r \sum_{k=0}^{r-1} \frac{\binom{r-1}{k}}{\binom{m+n+r-k-1}{m}} \cdot \frac{D(k)}{m+n+r-k} \\
& \quad=r!\cdot \sum_{k=0}^{n}\binom{n}{k}(-1)^{n-k}(m+k)!. \tag{3.29}
\end{align*}
$$

It follows that we show some special cases of Theorem 3.3. By taking $r=1$ in Theorem 3.3, in view of $D(0)=1$, we obtain that for non-negative integers $m, n$,

$$
\begin{equation*}
\sum_{k=0}^{m}\binom{m}{k} \frac{D(n+k+1)}{n+k+1}=\sum_{k=0}^{n}\binom{n}{k}(-1)^{n-k}(m+k)!-\frac{(-1)^{n} m!\cdot n!}{(m+n+1)!} \tag{3.30}
\end{equation*}
$$

If we set $n=0$ and substitute $n$ for $m$ in (3.30), we get that for non-negative integer $n$,

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} \frac{D(k+1)}{k+1}=n!-\frac{1}{n+1} . \tag{3.31}
\end{equation*}
$$

On the other hand, by setting $m=0$ in Theorem 3.3, we get that for non-negative integer $n$ and positive integer $r$,

$$
\begin{equation*}
\frac{n!}{(n+r)!} D(n+r)+\frac{(-1)^{n}}{(r-1)!} \sum_{k=0}^{r-1}\binom{r-1}{k} \frac{D(k)}{n+r-k}=\sum_{k=0}^{n}\binom{n}{k}(-1)^{n-k} k!. \tag{3.32}
\end{equation*}
$$

It is obvious that the case $r=1$ and $n=0$ in (3.32) gives the formula (1.1) and (1.5), respectively.

Acknowledgements We thank two anonymous referees for their valuable and detailed comments.

## References

[1] P. R. DE MONTMORT. Essay d'analyse sur les jeux de hazard. Chelsea Publishing Co., New York, 1980. (in French)
[2] R. J. CLARKE, M. SVED. Derangements and bell numbers. Math. Mag., 1993, 66(5): 299-303.
[3] M. HASSANI. Derangements and applications. J. Integer Seq., 2003, 6(1): 1-8.
[4] J. REMMEL. A note on a recursion for the number of derangements. European J. Combin., 1983, 4(4): 371-374.
[5] L. COMTET. Advanced Combinatorics: the art of finite and infinite expansions. D. Reidel Publishing Co., Boston, MA, 1974.
[6] R. P. STANLEY. Enumerative Combinatorics. Cambridge Univ. Press, 1997.
[7] L. CARLITZ. The number of derangements of a sequence with given specification. Fibonacci Quart., 1978, 16(3): 255-258.
[8] R. B. CORCINO, C. B. CORCINO. On generalized Bell polynomials. Discrete Dyn. Nat. Soc., 2011, 1-21.
[9] R. B. CORCINO, M. B. MONTERO, C. B. CORCINO. On generalized Bell numbers for complex argument. Util. Math., 2012, 88: 267-279.
[10] J. DÉSARMÉNIEN, M.L. WACHS. Descent classes of permutations with a given number of fixed points. J. Combin. Theory Ser. A, 1993, 64(2): 311-328.
[11] S. EVEN, J. GILLIS. Derangements and Laguerre polynomials. Math. Proc. Cambridge Philos. Soc., 1976, 79(1): 135-143.
[12] D. KIM, Jiang ZENG. A new decomposition of derangements. J. Combin. Theory Ser. A, 2001, 96(1): 192-198.
[13] I. MEZÖ, R. B. CORCINO. The estimation of the zeros of the Bell and r-Bell polynomials. Appl. Math. Comput., 2015, 250: 727-732.
[14] N. PRIVAULT. Generalized Bell polynomials and the combinatorics of Poisson central moments. Electron. J. Combin., 2011, 18(1): 1-10.
[15] W. B. JONES, W. J. THRON. Continued Fractions. Addison-Wesley Publishing Co., Reading, Mass, 1980.
[16] E. B. SAFF. Orthogonal Polynomials from a Complex Perspective. Kluwer Acad. Publ., Dordrecht, 1990.
[17] C. L. SIEGEL. Transcendental Numbers. Princeton Univ. Press, Princeton, 1949.
[18] G. A. BAKER JR, P. GRAVES-MORRIS. Padé Approximants. Cambridge Univ. Press, Cambridge, 1996.
[19] C. BREZINSKI. History of Continued Fractions and Padé Approximants. Springer-Verlag, Berlin, 1991.
[20] C. HERMITE. Sur la fonction exponentielle. C. R. Acad. Sci. Paris, 1873, 77: 18-24, 74-79, 226-233, 285-293. (in France)
[21] H. PADÉ. Librairie Scientifique et Technique. A. Blanchard, Paris, 1984.
[22] O. PERRON. Die Lehre von den Kettenbriichen. B. G. Teubner Verlagsgesellschaft, Stuttgart, 1957. (in German)
[23] E. B. SAFF. Introduction to Padé approximants. http://www-sop.inria.fr/miaou/anap03/PadeTalk.pdf.
[24] I. MEZO. On the maximum of $r$-Stirling numbers. Adv. in Appl. Math., 2008, 41(3): 293-306.
[25] I. MEZÖ. The r-Bell numbers. J. Integer Seq., 2011, 14(1): 1-14.


[^0]:    Received January 6, 2015; Accepted May 27, 2015
    Supported by the National Natural Science Foundation of China (Grant Nos. 11326050; 11071194) and the Foundation for Fostering Talents in Kunming University of Science and Technology (Grant No. KKSY201307047).

    * Corresponding author

    E-mail address: hyyhe@aliyun.com; hyyhe@outlook.com (Yuan HE)

